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(1) Find f'(x) if f(x)= x* ,x>0.
dy

(2) Find == ,if yx? =cosx+c* In(l+x?)
dx

(" -y") )
(3) If f(x’y): x2 +y2 ’ (x:y)v—(0,0)
0 L ()=(00),

0 0
find Ex—gy—f (x:)’)|(x,y)=((),())
— -~ Evaluate each of the following integrals (15%) :

(D J nxyds

dx
@) | =
atb 2a+Db

3) [P -ax-—

)dx

= . (32%)
(1)If fis continuous at ce(a , b) and f(c)=%, show that there is a
6> 0 such that
f(x) >‘—l‘ Vxe(c-0,c+d8)c(a,b) .

1

(2)If f is nonnegative and continuous on [ 0, | ] and f(%)=5 ,

show that ,[:f(x)‘l"> 0,
(3)If f(x)=x* , show that fis uniformly continuous on [0, 1] but is

not uniformly continuous on [0,) .

(4)If f is continuous on {0, 1], show that f is bounded on [0, 1] .
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VY - Evaluate each of the following series (10%):

o0 2 ”n
n . . b
1 —_ 2 5-'/' . where r is real number ,
(1) EWH (2) 2,

n=1 n-0

fi ~ If fis a bounded function on [a, 4], and P={a=x,,x,,x,..,x =b} lS

a partition of [a , b]. Let M, =sup{f(x):xe[x_,,x,1},

m, =inf{ f(x):xe[x_,x1}, Ac,=x,-x,_ ,i=172

gy .y

H

n n
U(1’,f)=ZM,-Ax,- , L(P,f):Zm,-Axi ,
i=1

i=|

I=sup { L (P, /) : P is a partition of [a , b] '

I

inf {U(P, f) : P is a partition of [a, b] } .
We say that f is Riemann integral on [a , b} if = I, in this case,

we write J'bf(x)dlezi

(DIf O=Pu{c} where ce(a,b), cel , show that
vu@.nHsui,fy
L@, N)2L(P.[) . (8%)
(2)If P,Q are any partition of [a , b] , show that
LP,N)sUW, ) . (5%)
(3)Given &>0 , if there is a partition P.of [a, b] such that
U(Pg, ) - L(Pg, f)s&
show that f is Riemann integrable on [a , 5], (5%)
(4)If f is continuous on [a , b], show that fis Riemann integrable on

[a, b].(10%)




